Fs "4 531 NE = K5 2R
1 % 1992 AR Ptk
2 iR 5 1992 AR Ttk
3 e 222 B 5 1992 AEHE Tt
4 IR 5% 1992 AR Ttk
5 1 X 3 % 1992 AR Tt
6 PR % 1992 AR Ttk
7 2 e 5 1992 AR Tt
8 5 5 1992 AEHE Tt
9 X2 % 1992 AR Ttk
10 i 7R 5 1992 AFHE Tt
11 BIKAR 5 1992 AR Ptk
12 e EE 5 1992 AR Tt
13 ERI 5 1992 AEHE Tt
14 FRIE 5 1992 AR Ttk
15 FEFR 5 1992 AFHE ka4
16 R P L2 1992 AR Ttk
17 RN 5 1992 AR Tt
18 Ttz 5 1992 ARHE Ttk
19 5Kt % 1992 AR Tl
20 FKYLAL 5 1992 AFHE Tt
21 [ SYES 5 1992 AR Ptk
22 Rk i 1992 AR Tt
23 PR 5’8 1992 AR Tt
24 6 5% 1992 AR Tt




25 MR 5 1992 AR Ttk
26 TRt 5 1992 AR Tt
27 R A % 1992 AR Ptk
28 S 5 1992 AR Tt
29 X% 5 1992 AR Tt
30 TAIFE 5 1992 AR Tt
31 AR 5 1992 AR HeeLl
32 ok [ % 5 1992 AR Ttk
33 K /8 1992 AR Tt
34 IR 5 1992 TERES T2 Ll
35 HEZ % 1992 fit 4= HE P2l




